# JUL 12 2005

Date Commission Expires:

#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

September 1999 Form Must Be Typed

### WELL COMPLETION FORM KCC WICHITA WELL HISTORY - DESCRIPTION OF WELL & LEASE

NCC WICHTIA	ODICINIA
Operator: License # 30420	APINO. 15 - 051 - 25368 - 00-00 UNIVINA
Name: V.J.I. Natural Resources Inc.	County: Ellis
Address: 30-38 48th St.	S/2 SE SE NE Sec. 16 Twp. 15 S. R. 19 East West
City/State/Zip: Astoria, New York 11103	
Purchaser:	feet from ( W (circle one) Line of Section
Operator Contact Person: Jason Dinges	Footages Calculated from Nearest Outside Section Corner:
Phone: (785.) 625-8360	(circle one) NE SE NW SW
Contractor: Name: A & A Discovery (Anderson)	Lease Name: Kraus Well #: 1
License: 133237 CCC	Field Name: Wildcat
Wellsite Geologist: Robert Stolzle	Producing Formation:
Wellsite Geologist: NOVER'S SCOTZIE  Designate Type of Completion:	Elevation: Ground: 2003 Kelly Bushing: 2008
Neŵ Weil - Re-Entry Workover	Total Depth: 3689 Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 917 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☒ No
X Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tow/sx cmt.
Well Name:	Drilling Fluid Management Plan Alt. T SR R-R-OR
Original Comp. Date: Original Total Depth:	(Data must be collected from the Research Dist)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug BackPlug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No	Location of fluid disposal if hauled offsite:
Dual Completion	
Other (SWD or Enhr.?) Docket No.	Operator Name:
12-01-04 12-07-04 12-8-04 Spud Date or Date Reached TD Completion Date or	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter Sec. Twp. S. R. East West
·	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workown information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, wer or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
Il requirements of the statutes, rules and regulations promulgated to regulerein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
ignature: Jana Duza	KCC Office Use ONLY
itle:	Letter of Confidentiality Received
ubscribed and sworn to before me this 30 day of	If Denied, Yes Date:
additional and sworn to before me this 30 day of grants	Wireline Log Received
Printing lable	Geologist Report Received
otary Public: MUSUMUXCIULLED	UIC Distribution

Operator Name: V • J Sec. 16 Twp. 1						_Kraus Illis	·	Well #:1		<del></del>
INSTRUCTIONS: Shi tested, time tool open temperature, fluid reco Electric Wireline Logs	ow important tops a and closed, flowing overy, and flow rates	and base of and shut s if gas to	f formations p in pressures, surface test, a	whether s along with	Detail a	all cores. Report a	tatic level, hydro	ostatic pressu	res, bottom hole	
Drill Stem Tests Taken (Attach Additional S	Yes ≝No		<b>*</b> 1	Log Formation	Formation (Top), Depth a		Sample			
Samples Sent to Geological Survey			es 🌁 No		Nan			Тор	Datum	
Cores Taken			_		_	eka Fm. bner sh		2983 3263	- 97 <i>5</i> -1256	
Electric Log Run (Submit Copy)		Ye			Lan	sing Gp.  s 'B' zone		3318 3330	-1310 -1322	
List All E. Logs Run: Compensate Dual Induc	d Density No tion Log	eutron	Log		Bas Arb	s 'H' zone se Ks. City puckle Fm. gan Ss.		3444 3555 3626 3658 3689	-1439 -1593 -1618 -16 <i>5</i> 0	
		Repor		RECORD		ew Used ermediate, productio	n, etc.			
Purpose of String	Size Hole Size Casing Drilled Set (In O.D.)		e Casing Wei		ght	Setting Depth	Type of Cement	# Sacks Used	Type and Percen Additives	it
Surface	12‡	8 4	5/8"	24		917	Pozmix	425	60/40 poz	3%CC,2&g£
			ADDITIONAL	OFMENT	NO / OO					
Purpose:  Perforate  Protect Casing  Plug Back TD  Plug Off Zone	Depth Top Bottom	Туре	of Cement	#Sacks		JEEZE RECORD	Type and P	ercent Additives	3	
Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated							ire, Shot, Cement unt and Kind of Ma		rd Depth	<u></u>
TUBING RECORD	Size	Set At		Packer A	i	Liner Run	Yes No			
Date of First, Resumerd P	Production, SWD or En	hr.	Producing Meth	_	Flowing	Pumping	Gas Lift	Othe	er (Explain)	
Estimated Production Per 24 Hours	Oil Bi	bls.	Gas I	Vici	Wate	r Bbis.	. Ga	as-Oil Ratio	Gravity	
Disposition of Gas	METHOD OF COMPLETION Production Interval									
Vented Sold	Used on Lease	[	Open Hole	Perf.	D	ually Comp.	Commingled			

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

# RECEIVED JUL 1 2 2005 KCC WICHITA

ORIGINAL

\* INVOICE

Invoice Number: 095379

Invoice Date: 12/16/04

Sold V. J. I. Natural Res. Inc.

To: 30-38 48 Street Astoria, NY

11103

Cust I.D....: VJI

P.O. Number..: Kraus #1 P.O. Date...: 12/16/04

Due Date.: 01/15/05

Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	255.00	SKS	7.8500	2001.75	ጥ
Pozmix	170.00	SKS	4.1000	697.00	Ť
Gel	8.00	SKS	11.0000	88.00	$\tilde{ extbf{T}}$
Chloride	13.00	SKS	33.0000	429.00	T
Handling	446.00	SKS	1.3500	602.10	E
Mileage (37)	37.00	MILE	22.3000	825.10	E
446 sks @\$.05	per sk per mi	· · · · · · · · · · · · · · · · · · ·			
Surface	1.00	JOB	700.0000	700.00	E
Mileage pmp trk	37.00	MILE	4.0000	148.00	Ε
TRP	1.00	EACH	100.0000	100.00	T

All Prices Are Net, Payable 30 Days Following Date of Invoice. 1 1/2% Charged Thereafter. If Account CURRENT take Discount of \$ 559.09 ONLY if paid within 30 days from Invoice Date

Subtotal:
Tax....:
Payments:
Total...:

5590.95 175.73 0.00 5766.68

f 2 1

5786.68 559.09 5207.59

## ALLIED CEMENTING CO., INC. 18977

distance.

REMIT TO P.O. BOX 31 SERVICE POINT: **RUSSELL, KANSAS 67665** OB START JOB FINISH 4.300m 5.00 Am TWP. CALLED OUT ON LOCATION SEC. RANGE JOB START COUNTY STATE ANTONINO ZWZS LEASE KRAUS WELL# LOCATION Elias OLD OR (EW) (Circle one) AZA CONTRACTOR **OWNER** SURFACE TYPE OF JOB 925 **CEMENT HOLE SIZE** T.D. AMOUNT ORDERED 425 6/40 3% CC DEPTH 918 **CASING SIZE** Z90GEL TUBING SIZE DEPTH DRILL PIPE **DEPTH** TOOL **DEPTH** @ 785 COMMON 255 PRES. MAX MINIMUM POZMIX 170 **SHOE JOINT** MEAS. LINE CEMENT LEFT IN CSG. GEL PERFS. CHLORIDE DISPLACEMENT ASC \_\_\_\_\_ **EQUIPMENT** RECEIVED @ CEMENTER \_ NARIC **PUMP TRUCK** JUL 1 2 2005 **HELPER** PAUL **KCC WICHITA BULK TRUCK** 362 DRIVER **BULK TRUCK** DRIVER HANDLING 446 54/SK/M.1E MILEAGE \_\_\_\_\_ TOTAL 4647 95 **REMARKS:** KEINENT CIRC **SERVICE** DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE MANIFOLD -8% TRP (a) CHARGE TO: \_\_\_\_VJJ TOTAL 948 STREET \_\_\_\_ CITY\_\_\_\_\_STATE \_\_\_\_ZIP\_\_\_ PLUG & FLOAT EQUIPMENT (a) To Allied Cementing Co., Inc.

You are hereby requested to rent cementing equipment

**@**